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Abstract. The problem of estimation the parameter H of covariance function of one non-Gaussian
stochastic process is studied. A non-asymptotic confidence intervals are found by using Baxter statis-
tics.
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E ((X1 + Y1)± (X2 + Y2))
4 = E ((X1 ±X2) + (Y1 ± Y2))

4
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E (X1 ±X2)
2
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+ 2E (X1 ±X2)
2
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2 +
(
E (Y1 ± Y2)

2
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)

= 3
(
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2 + E (Y1 ± Y2)
2
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2
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ξ
(1)
k,n = ξ

(
k + 1
an

)
− ξ

(
k

an

)
,

ξ
(2)
k,n = ξ

(
k + 1
an

)
− 2ξ

(
k + 0.5

an

)
+ ξ

(
k

an

)
, 0 ≤ k ≤ an − 1.
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S(i)
n =

an−1∑
k=0

(
ξ
(i)
k,n

)2

, Ŝ(i)
n = a2H−1

n S(i)
n , i = 1, 2.
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����

����� �������� ��
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E
(
ξ2η2

) ≤ 2 (E ξη)2 + E ξ2 E η2 +
1
2

((
E ξ2

)2 − 1
3

E ξ4

)
+
1
2

((
E η2

)2 − 1
3

E η4

)
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E
(
ξ2
i η2

i

) ≤ 2 (E(ξiηi))
2 + E ξ2

i E η2
i , i = 1, 2. !"#
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sup
H∈(0,H∗]

Var Ŝ(1)
n ≤

⎧⎪⎪⎨
⎪⎪⎩

2
an
(3 + 2ζ(4− 4H∗)) , ��
� H∗ ∈ (0, 3

4 )�
2

an
(3 + 2 (1 + ln an))) , ��
� H∗ = 3

4 �

2
an

(
3 + 2a4H∗−3

n

4H∗−3

)
, ��
� H∗ ∈ (

3
4 , 1

)
,

	�

ζ(s) =
∞∑

n=1

1
ns

, s > 1. !$#

����	����� %
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Var Ŝ(1)
n = a4H−2

n VarS(1)
n ;

VarS(1)
n = E

(
S(1)

n − ES(1)
n

)2

= E

(
an−1∑
k=0

(
ξ
(1)
k,n

)2

−
an−1∑
k=0

E
(
ξ
(1)
k,n

)2
)2

= E

⎛
⎝an−1∑

k,j=0

((
ξ
(1)
k,n

)2

− E
(
ξ
(1)
k,n

)2
)((

ξ
(1)
j,n

)2

− E
(
ξ
(1)
j,n

)2
)⎞
⎠

=
an−1∑
k,j=0

(
E
(
ξ
(1)
k,n

)2 (
ξ
(1)
j,n

)2

− E
(
ξ
(1)
k,n

)2

E
(
ξ
(1)
j,n

)2
)

.
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VarS(1)
n ≤ 2

an−1∑
k,j=0

(
E ξ

(1)
k,nξ

(1)
j,n

)2

.

'
���

E ξ
(1)
k,nξ

(1)
j,n =

1
2

∣∣∣∣ (k − j) + 1
an

∣∣∣∣
2H

−
∣∣∣∣k − j

an

∣∣∣∣
2H

+
1
2

∣∣∣∣ (k − j)− 1
an

∣∣∣∣
2H

, 0 ≤ k, j ≤ an − 1.

(���
��	� vl := (l + 1)2H − 2l2H + (l − 1)2H � l ≥ 1� )���

VarS(1)
n ≤ 2

⎛
⎜⎜⎝a1−4H

n +
a−4H

n

2

an−1∑
k,j=0,
k<j

v2
j−k

⎞
⎟⎟⎠ ≤ 2a1−4H

n

(
1 +

1
2

an−1∑
l=1

v2
l

)
.

*������
 v2
1 =

(
22H − 2

)2 ≤ 4 ��
 H ∈ (0, 1)� �� VarS(1)
n ≤ 2a1−4H

n

(
3 + 1

2

∑an−1
l=2 v2

l

)
�

'
��� �
� �� vl + ��
���� ������� ������� ,������ f(x) = x2H � x ≥ 1� �
 ��������
[l−1, l+1]� �� � ,��	��
 ��� ��
����� n-�� ������� ��
 n = 2 ./� �� �001 �
��
�
�� ��

vl = 2H(2H−1)θ2H−2
l � �� θl ∈ (l−1, l+1)� &�
2�����
� �� supH∈(0,1) |2H(2H−1)| = 2�

���
	
�	�

v2
l ≤

4
(l − 1)4−4H

, l ≥ 2,

�����


VarS(1)
n ≤ 2a1−4H

n

(
3 + 2

an−1∑
l=2

1
(l − 1)4−4H

)
.
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Var Ŝ(1)
n ≤ 2

an

(
3 + 2

an−1∑
l=2

1
(l − 1)4−4H

)

	

sup
H∈(0,H∗]

Var Ŝ(1)
n ≤ 2

an

(
3 + 2

an−1∑
l=2

1
(l − 1)4−4H∗

)
. 
��


��	����

an∑
l=1

1
l4−4H∗ ≤

⎧⎪⎨
⎪⎩

ζ(4 − 4H∗), H∗ ∈ (0, 3
4 );

1 + ln an, H∗ = 3
4 ;

a4H∗−3
n

4H∗−3 , ���� H∗ ∈ (
3
4 , 1

)
,

�� ζ(s) =
∑∞

n=1 n−s� s > 1� �� 	� ���	�����	 
�� ��������� ���������� ����� ����
��������� �

������� ��	� Ŝ
(1)
n → 1 � ��������	
� ��
�
�� ��
 n →∞�

����������

E Ŝ(1)
n = a2H−1

n an E
(
ξ
(1)
0,n

)2

= 1, n ≥ 1. 
��

 ���� !�" �� #��#������ #�� �$	��	��� ����
∑∞

n=1 a−α
n ��� ���	����%� α > 0

��#������ �� ��� ���	����%� H ∈ (0, 1) ���
∑∞

n=1Var Ŝ
(1)
n < +∞� &��'���(�� 
���

��������� ���������� �������� �


��� ���� ��� ���������� H ∈ (0, 1)

Var Ŝ(2)
n ≤ 2

an

(
9 +

c

2
+

c2
∗
2

ζ(4)
)

,

�� ζ(4) = π4/90�

c = sup
H∈(0,1)

(
6 · 22H − 4− 4 · 32H + 24H

22H

)2

,

c∗ = sup
H∈(0,1)

∣∣∣∣2H(2H − 1)(2H − 2)(2H − 3)
24

∣∣∣∣ .
���������� )����*

Var Ŝ(2)
n = a4H−2

n VarS(2)
n .

+� 	 � ��������	 ���� !�"� ��������� ���	��	���

VarS(2)
n ≤ 2

an−1∑
k,j=0

(
E ξ

(2)
k,nξ

(2)
j,n

)2

.

,��	�

E
(
ξ
(2)
k,nξ

(2)
j,n

)
=
1
2

(
−

∣∣∣∣(k − j)− 1
an

∣∣∣∣
2H

+ 4
∣∣∣∣(k − j)− 1/2

an

∣∣∣∣
2H

− 6
∣∣∣∣k − j

an

∣∣∣∣
2H

+ 4
∣∣∣∣(k − j) + 1/2

an

∣∣∣∣
2H

−
∣∣∣∣ (k − j) + 1

an

∣∣∣∣
2H

)
,

0 ≤ k, j ≤ an − 1.

-�� k = j ����� E
(
ξ
(2)
k,n

)2 = E
(
ξ
(2)
0,n

)2 = a−2H
n (22−2H − 1)�



��������	�
�� ���
�� 
�	������� ��������� ��	�������
�� ��
���� ���

���������

wl :=
(
|l − 1|2H − 4|l− 1

2
|2H + 6l2H − 4|l+ 1

2
|2H + |l + 1|2H

)
, l ≥ 1.

�	
 l = 1 ���	�
�� w1 = (6 · 22H − 4− 4 · 32H + 24H)/(22H)� 
���

VarS(2)
n ≤ 2

⎛
⎜⎜⎝a1−4H

n (22−2H − 1)2 +
a−4H

n

2

an−1∑
k,j=0,
k<j

w2
j−k

⎞
⎟⎟⎠

≤ 2

(
a1−4H

n (22−2H − 1)2

+
a1−4H

n

2

(
6 · 22H − 4− 4 · 32H + 24H

22H

)2

+
a1−4H

n

2

an−1∑
l=2

w2
l

)
.

�������
 supH∈(0,1)(22−2H − 1)2 = 9� ��

VarS(2)
n ≤ 2a1−4H

n

(
9 +

c

2
+
1
2

an−1∑
l=2

w2
l

)
,

��

c = sup
H∈(0,1)

(
6 · 22H − 4− 4 · 32H + 24H

22H

)2

. ����

����� wl � �	
	��� �����	���� ��	����  �!�"�# f(x) = x2H � x ≥ 1� !� ���	�$��
[l−1, l+1]� ���� $  �	���
 ��� �	
	���� n%�� ��	���� �	
 n = 4 &'� �� ())* ���	�
���
+�

wl =
2H(2H − 1)(2H − 2)(2H − 3)

24
θ2H−4

l ,

�� θl ∈ (l − 1, l+ 1)� ,	�-���.�
� +�

c∗ = sup
H∈(0,1)

∣∣∣∣2H(2H − 1)(2H − 2)(2H − 3)
24

∣∣∣∣ , ����

��	
��/��

w2
l ≤ c2

∗
1

(l − 1)8−4H
, l ≥ 2,

$����


VarS(2)
n ≤ 2a1−4H

n

(
9 +

c

2
+

c2∗
2

an−1∑
l=2

1
(l − 1)8−4H

)
≤ 2a1−4H

n

(
9 +

c

2
+

c2∗
2

ζ(4)
)

,

�� ζ(4) =
∑∞

n=1 n−4 = π4

90 = 1.08232323 . . . � 
��
� �
!��� supH∈(0,1)Var Ŝ
(2)
n ≤

≤ 2
an

(
9 + c

2 +
c2
∗
2 ζ(4)

)
� 0��� ������!�� �

������� ��	� Ŝ
(2)
n → 22−2H − 1 � ��������	
� ��
�
�� ��
 n →∞�

����������

E Ŝ(2)
n = a2H−1

n an E
(
ξ
(2)
0,n

)2

= 22−2H − 1.

1$ ���
 2�2 �� $3��!���� 	���
∑∞

n=1 a−1
n �
��
��/� +� ��� ������!��� H ∈ (0, 1) 	��∑∞

n=1Var Ŝ
(2)
n < +∞� 
��	��� ������!�� �

1$ ���	�� 2�� �� 2�( �
��
��/ !�����!
4 !��������
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S
(2)
n

S
(1)
n

=
Ŝ

(2)
n

Ŝ
(1)
n

→ 22−2H − 1, H ∈ (0, 1), ����

� ��������	
� ��
�
�� ��
 n→∞�

����	
���

θ(H) := 22−2H − 1, H ∈ (0, 1). ��
�

�������

ϕ(θ) = 1− 1
2
log2(θ + 1), θ ∈ (0, 3) ����

� �������	 
� ������� θ(H)� H ∈ (0, 1)�
�
��
�� 	
	
 �
�

	

��

Ĥn = 1− 1
2
log2(θn + 1), n ≥ 1,

�� θn = S
(2)
n /S

(1)
n � n ≥ 1� � 	
���� ����
	
��
��� ������� ������
�� H�

���������� �������� ������� ���� �������	 
� ������� ��
��  � �! !��"��� � ����

#�$��#	%� &� Ĥn → H ! '��#����� ( �
����� $�� n →∞� �

�� ������� ���	��
��

�
�� �
�
 ����� {Xk | 0 ≤ k ≤ an, an ∈ N}� {Yk | 0 ≤ k ≤ an, an ∈ N} � �����


�
������
� ���
�
� � � ����
� 	������� 
� 	������
�
 �����
��
 !"#� ������ 


���� $�%

E Xk = E Yk = 0, E X2
k = E X2

0 , EY 2
k = EY 2

0 , 0 ≤ k ≤ an;

S1 =
an∑

k=0

X2
k , S2 =

an∑
k=0

Y 2
k , θ =

EX2
0

EY 2
0

.

&��� ��� ��������#� ε > 0 ��� ��	�� �������	
�%

P

{∣∣∣∣S1

S2
− θ

∣∣∣∣ ≥ ε

}
≤ VarQ1

(EQ1)
2 +

VarQ2

(E Q2)
2 ,

�� Q1 = (θ − ε)S2 − S1� Q2 = S1 − (θ + ε)S2�

���������� )	%��*

P

{∣∣∣∣S1

S2
− θ

∣∣∣∣ ≥ ε

}
= P {|S1 − θS2| ≥ εS2}
= P {S1 − θS2 ≤ −εS2}+ P {S1 − θS2 ≥ εS2}
= P {Q1 ≥ 0}+ P {Q2 ≥ 0} .

+	�#	"���� &�

EQ1 = (θ − ε)ES2 − ES1 = (θ − ε) (an + 1)EY 2
0 − (an + 1)EX2

0

= (an + 1)(θ − ε− θ) = −ε(an + 1)EY 2
0 < 0;

E Q2 = (an + 1)EX2
0 − (θ + ε) (an + 1)EY 2

0 = −ε(an + 1)EY 2
0 < 0.

������� !#��,� '��#����� � P {Q1 ≥ 0} !	 
�$���-�( ����#��� � .���/�#	*

P {Q1 ≥ 0} = P {Q1 − E Q1 ≥ −EQ1} ≤ P {|Q1 − EQ1| ≥ −EQ1} ≤ VarQ1

(E Q1)
2 .

0�	��-�1�� ����(% ��� !#��,� '��#����� � P {Q2 ≥ 0}� �
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���
θ = 22−2H − 1� H ∈ (0, 1)
 �
��� 1 − p ∈ (0, 1) �  ������ ���
�! ������
 "�����

���	� γn(p) �� ������ ���� #��$

P {|θn − θ| ≥ γn(p)} < p.

� %��� �
��� ���	��
��

Q1 = (θ − γn(p)) Ŝ(1)
n − Ŝ(2)

n , Q2 = Ŝ(2)
n − (θ + γn(p)) Ŝ(1)

n ,

�
 ���� #� γn(p) �
 �� ���
��
 "	� ���
�������� ��������! ���������� �
	����
Q1� Q2 �����$

EQ1 = EQ2 = −γn(p).
"	� �%����  �
��� ����
���� ���������� �
	���� Q1� Q2 ������������ �
�������!
(a+ b)2 ≤ 2(a2 + b2)� a, b ∈ R
 &����

VarQ1 ≤ 2 (θ − γn(p))
2Var Ŝ(1)

n + 2Var Ŝ(2)
n ,

VarQ2 ≤ 2 (θ + γn(p))
2Var Ŝ(1)

n + 2Var Ŝ(2)
n .

'%���� �	� Var Ŝ(1)
n � Var Ŝ(2)

n �������� � 	
��� (
)� (
(
 ���������� #� θ ∈ (0, 3)

*��
�� ��������� γn(p) ���� #��

VarQ1

(EQ1)
2 ≤

2 (θ − γn(p))
2Var Ŝ(1)

n + 2Var Ŝ(2)
n

γ2
n(p)

≤ p

2
, +�,-

VarQ2

(EQ2)
2 ≤

2 (θ + γn(p))
2Var Ŝ(1)

n + 2Var Ŝ(2)
n

γ2
n(p)

≤ p

2
. +�.-

"	� H∗ ∈ (0, 1) ���	��
��

αn =

⎧⎪⎪⎨
⎪⎪⎩

4
an
(3 + 2ζ(4− 4H∗)) , H∗ ∈ (0, 3

4 );
4

an
(3 + 2 (1 + ln an))) , H∗ = 3

4 ;
4

an

(
3 + 2a4H∗−3

n

4H∗−3

)
, H∗ ∈ (

3
4 , 1

)
,

βn =
4
an

(
9 +

c

2
+

c∗
2

ζ(4)
)

,

�
 c� c∗� ζ(s)� s > 1� �� ���
�� ���������� +�/-� +��- �� +0- ����������

1 	
� (
)� (
( ���	����� #�

αn ≥ 2 sup
H∈(0,H∗]

Var Ŝ(1)
n , βn ≥ 2 sup

H∈(0,H∗]
Var Ŝ(2)

n .

2�� H ∈ (0, H∗] �
�������! +�.- � ���	����� �
��������

(3 + γn(p))
2 αn + βn

γ2
n(p)

≤ p

2
.

3� �4� ���� %� �
�������! �������� γn(p)  � ����� p
2 − αn > 0� #� ������5���!��

�	� ���� �������!� �
	���� n� ���������

γn(p) ≥
3αn +

√
D
4(

p
2 − αn

) ,

�


D = 36α2
n + 4

(p

2
− αn

)
(9αn + βn) .

2��	��
��

γn(p) =
3αn +

√
D
4(

p
2 − αn

) . +�0-
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��
��� ����� γn(p) 
����������� �� 	
��

 ��
� ����� � �
�
��� 
�������
 ��� !��� ���� H � �
��� �
�
�� 1− p�

���	�
��
� �
 γn(p) = O
(√

αn

)
� n →∞�

�� ��������

� �
�
�� 
������
 ��������	���� 
����� ��	��
�
�
 ��������� H �
	������ �
!
"�����! ��� 	�����
	
�
 ��
���� # ����
����� ���$
�
 �� ����
�
 �
�%��� �&�'
�� K1� (��

 #�� ���
 ��������
��)�� �
	��)� �����	�&��

�	
��

��


�� �� �� ����	
����
� �� �� ���������� ���������	 
 ����
� ������
���

 �����
 �
������� ��
���
�����
� ����

 ����
��� 
 ������ ����
��� �� ������� � ��

!� �� �� �"	#$%
�� �� �� ���������� ����������� �
�
���������� ����
���� 
������ �
��������
� &��'()*� �
��� �����

�� �� +� +	�#$,��� ��

� ������	�
� ������
 ��� ����
���� ��������
 � �
����
����� ����
�
 ������� ����

 ����
��� 
 -�
������ � ������� ./ ���

0� �� �� ���������� 1� 1� �"������� ��!�"

��� �
�
����!
 �
���!
�	��� �����!���� 
��
�
���
�� ���!
� 2(3 �� �!444�� 5 �� �4�! �4���

.� )� (� �����
���
6� � ��������� ������	��� ������
� ��� ����
���� ����� � �
����
�
����� �
#������� $��� ������
� ����

 ����
��� 
 ������ ����
��� � ���/��� /� �4�

�� 1� 1� �"������� ���
 ���	�� �����������
 ��!��
 �
�
����
 %"���
 ���&�
��� &����
�!
�	���� ����� ����'
 6���'�� �� ������ ����
��� �� �!44!�� 0. .0�

/� 1� 1� �"������� '�����
 &
�����!
�	���� ���� ��� ������ ��&�
����
�� 
��
���
�� ���
�!
� �'��
� �
7��8��%� ��9'���	8��%� "�'����
���" '�� ������ :�������� (������
��� (�;
<��'�� � �!44��� �. ���

�� =� >� (�6?���#�� (����������
 ����
�	�!��	 &
�����!
�	��� ��!��� �
�
����!
 ���
��
�!��
���� ������!
� ����'
 6���'�� �� ������ ����
��� �� ����.�� �/ �4!�

�� +� (� @
<���%�	89� )��� ��**������
�	���� � ������
�	���� ����������� �� �� &A�"��*�
(������ �����

�4� B� CDEFGH� + ,-./01 2!$!- -34/.4$ 5/. 678,,!70 9./:4,,4,� IHJK� LMGH� NDFO� PJK� � ���.���
QJ� �� .!! .!/�

��� P� N� CGHMDQ� + ;4.,!/0 /5 <4;=�>7?-4. -34/.4$ 5/. 678,,!70 9./:4,,4,� IHJK� LMGH� NDFO�
PJK� �� ����/�� �4.� �4..�

�!� R;S� CHGFJQ� T� UJVHW'Q� DQW B� IGKKDF'� @?7:- :/0AB40:4 !0-4.;72, 5/. -34 C8.,- 97.7$4-4. /5
7 5.7:-!/072 >./D0!70 $/-!/0� XYGKFHJQ'K RJVHQDY JZ PFDF'[F'K[ � �!44��� 0�� 0!.�

��� \� ]^OD_DH'W^G DQW R� `� aDQ bDQFGQ� + ,4.!4, 4?970,!/0 /5 5.7:-!/072 >./D0!70 $/-!/0�
IHJcDc'Y'Fd eOGJHd DQW fGYDFGW g'GYW[ ��� �!440�� QJ� �� �� ..�

�0� e� \DhDWD� E34 <4;=�>7?-4. -34/.4$ 5/. 678,,!70 .70B/$ A42B,� IHJK� LMGH� NDFO� PJK� ��

���/.�� 0�� 0���
�.� i� j� \J^DKOGQkJ DQW l� l� \VHKOGQkJ� <4;=�>7?-4. -34/.4$, 5/. /04 :27,, /5 0/0�678,,!70

,-/:37,-!: 9./:4,,4,� fDQWJM l_GH� PFJKO� XmV� 	 �!4���� ��� �!��
��� I� nGad� <4 $/8;4$40- >./D0!70 9270� LMGH R� NDFO� �� ���04�� 0�/ ..4�

������� ����	
 ���
	������� �� �����������
 ����������� �����	���������������

���������� ��

����� ���	�������� ��	
������� 	�� ������ ��
������ �������� ����

 ��
�� !� ��

 "#$%&� '���
��

(����
 ����������F ��G��o ����������	�
�����
��

*��� $&� +�,��,-+�-


